q.7.3095109%
=1.9.

go1 fw gt ede g gu

(wan q2& yeifaa fufa : F00=109132 1)

Y ATHIT TRIMAFTR! FAMT 9T FHITHD! GAT (7 T @7 TO IoHe qreeitre gag
U9 083 F TR 5 F1 JUSH (§) AN FEwTF @ie i 08y # w3 @) il gor e

AT JEEA BT 91 G B AAPNE forshar 49 ATT JRIegey SRreq (e giry) fafae afe
T WUE wrEwE @i framata oty @ fEw 3N @) B IuHEw } SMER 2w aeiwe
Frafy fabr T = gareE o s rRdeest dfaftrdas, TRER, 9o T gfaar isasr e
(R T FEY) A A 1 FAAT Twraa 9ot fad qx (= ey 93 a9fm a9 sridear
fHagq <@l T 9 & | @ YUHT [GeERl Y& TEee srad gary a9 yedraRr a1 Froesdr
yfafafessr Agawar TEEmr i fGTF R .00 F50 @ @ 1 aRrEETar a1 Frerr whafies
YRl MUY JEAT el HEAT Al 9T S | & A A1 feell T ITRIgASE qRaeu &
FREATET e | 097 T e Teq faen o @ it st g fam e T afeRs

S

ey fefaw

AfgiERaT

XIPEIROU5I0%]

g e |t
GT T P |

gol fsH awiy qeafwr fafera Qfatesaa
IR ARANAFH JTATZE
www.bedkotmun.gov.np are
Download 7 afet & 1




Bedkot Municipality

Office of the Municipal Executive % P

S.NO.

ITEMS/EQUIPMEN
TS

REQUIRED SPECIFICATION

OFFERED SPECIFICATION

SKY WALKER

DIMENSIONS: 1720mm (Length) x 630mm (Width) x 1750mm
(Height). SAFE AREA: 2.7m x 1.6m.Main frame: 80mm NB G.I. pipe.
Leg movement frame: 50mm x 50mm CRC square pipes of 3mm
thickness. Sleeves: 100 mm OD M.S. pipe Smm thick. Handle

frame: is of 25mm NB G.I. pipe. Foundation: 2 Nos used for fixing
made of G.i. pipe of 80 NB welded with M.S. round plate of DIA 250
mm & 10mm thickness. Main frame of the foundation is supported
with 25 mm x 25mm M.S. angles of 3 mm thickness and 20mm x
40mm CRC square pipes of 3mm thickness. Footrest Closing Caps
! End Caps: made from Injection Moulded Plastic LLDPE / HDPE.
Pins: DIA 25mm SAE8620 bright material. Bearings: “62052RS1"
which are permanent iubricated sealed bearing of reputed brand.
Nut & bolts: SS 304 .Cerclips:A24 type. Powder Coating along with
primer. Polyester Powder Coating of at least 60 to 70 micron
thickness using Exonobel / Berger make paints or its equivalent
paints.

Weight of equipment: 129 Kg (approx.).

AIR WALKER

Main frame’s Centre pipe: 80mm NB made using Gl pipe

Pedal frame: duly bend, 25mm NB. Handle frame: duly bend of 25
mm NB GI pipe and the bottom support of M.S. round plate of
250mm dia8 10mm thickness ic welded at bottom. Foot rest support
plate: 245 x 113 x 2.8mm. Leg frame is of 40mm NB made from G!
pipe. The faundation used for fixing is consists of three equal items
ie. 80mm NB made from Gl pipe, M.S. Round Plate of 250 mm
diad 10mm thickness & 25 mm X 25mm M.S. angle of 3 mm
thickness. MS Flat 48 x 9mm: Foundation plate supporl. MS bright
material: Pins made of Dia 25mm. Footrest Closing Caps / End
Caps: made from Injection Moulded Plastic LLDPE / HDPE. Pins:
made up of DIA 25mm S$AE8620 bright material. Bearings:
*62052R81” which are permanent lubricated sealed bearing of reputed
brand. Nut & bolts: SS 304 .Cerclips:A24 type. Powder Coating
along with primer. Polyester Powder Coating of at least 60 to 70
micron thickness using Exonobel / Berger make paints or its
equivalent paints. Weight of equipment: 60 Kg (approx.).

CROSS TRAINER

DIMENSIONS: 1320mm (Length) x 600mm (Width) x 1750mm.

{Height).

SAFE AREA: - 1.77 x 1.2Mtr.Main frame: 80 NB G.. Pipe with
single bend pipe with 250mm radius. Bottom support: M.S. round
plate of DIA 250 mm &10mm thick. Handle Frame: 25NB G.1. Pipe.
Foundation: 2 Nos used for fixing made of G.I. pipe of 80 NB
welded with M.S. round plate of DIA 250 mm & 10mm thickness.
Main frame of the foundation is supported with 25 mm x 25mm M.S.
angles of 3 mm thickness and 20mm x 40mm CRC square pipes of
3mm thickness. Bushes: M.S. seamless pipe of 60mm OD With 5
mm thickness. Foolrest Closing Caps / End Caps: made from
Injection Molded Plastic LLDPE / HDOPE. Pins: made up of DIA
35mm, 25mm, and 17mm SAES620 bright material. Nut & bolts: SS
304 Cerclips: A16,A24mm type. Powder Coating along with primer:
Polyester Powder Coating of at least 60 to 70 micron thickness
using Exoncbel / Berger make paints or its equivalent paints.
BoltM8X18mmand NY lock nut of M8 made of S5304 used on nylon
cap mounted on pins to protect bearings and pins from rain and
dust. Weight of

equipment: 68 Kg (approx.).




e Y “j,_._.
G
L
Frg

-

SIT UP BOARD

DIMENSIONS: 1820mm (Length) x 43&% P Omm
(Height).Safe Area: 2.8Mtr x 0.6Mtr, Mairi mﬂﬁ‘s made
from G.1. pipe in a single bend and supported with the MS round
plate of DIA 250x10mm thickness. Seat: Fiber reinforced Plastic
sheet of 3mm thickness is Bounded on 25mm NB (G.1) pipe of main
frame. Basesuppert:40NB(G 1.)pipe. Foundation: Center pipe of G.I.
ofS0NBWeldedwithM.S.roundplateofDIA 250mm&10mm thick. Main
pipe supported with 25 mm X 25mm M.S. angles of 3 mm thickness
and 20mm x 40mm CRC square pipes of 3mm thickness. Powder
Coating along with primer: Polyester Powder Coating of at least
60 to 70 micron thickness

using Exonobel / Berger make paints or its equivalent paints.
Weight: 105 Kg (approx.)

CHEST PRESS

DIMENSIONS: 2000mm (Length) x 710mm (Width) x 2200mm
{Height).The center pipe is of 100NB made up of G.l. pipe. The
bottom welded with suppon of M.S, round pilate of DIA 250 mm &
10mm thickness. Seats and Back rests are made up of M.S. Sheet
of size 330mm X 300mm X 2mm thickness. Closing Caps are
made up of injection Moulded Plastic LLDPE / HDPE. Foundation
cover Closing Cap is made from Injection Moulded Plastic LLDPE
/ HDPE. Pins used of Diameter 25mm and 17mm are made up
from SAE 8620 bright malerial. The bearings used are of
“62052RS1” &'62032RS1" permanent lubricated sealed bearing of
reputed brand. High tensile steel with galvanized nuts & bolts are
used for assembly. The cerclips used for locking is made up of
AZ4 mm & A16mm. The Gym Equipment shall be finished smooth
with a primer coating of atleast 40 micron followed by epoxy based
Powder Coating with Polyster Powder Coating of at least 60 to 70
micron thickness using Exonobel / Berger make paints or its
equivalent paints. Average weight of equipment is 98 Kq (approx.).

THAI CHI SPINNER (4
WHEEL)

DIMENSIONS: 700mm (Length) x 1000mm (Width) x 1280mm|

{Height).

The center pipe is of 100mm NB made up of G.1. pipe. The handle
movemenlt round frame is made up from 25mm NB G.1. pipe. The
bearing used is “62012RS1" & "62052RS1" permanent lubricated
sealed bearing of reputed brand. High tensile S.S. nut bolts are used
for assembly. The cerclips used for assembly is of A24 and A11.
The nylon bush is used for handle knob. The gym equipment shall
be finished smooth with a primer coating of at least 40 micron
foliowed by epoxy based Powder Coaling with Polyester Powder
Coating of at least 60 to 70 micron thickness using Exonobel f
Berger make paints or its equivalent paints. Bolt M8X16 mm and
Nylock nut of M8 made of SS 304 used on nylon cap mounted on
pins to protect bearings and pins from

rain and dust. Average weight of equipment is 52 Kg {approx.).

SHOULDER BUILDER

The Center Pipe is of 100mm NB made from GI pipe, and the
bottom support of M.S. Round plate of 250 mm diameter & 10mm
thickness is welded at bottoen. The handle movement frame is of 25
NB & 20 NB made from Gl pipe. To Join the centre pipe & handle
movement frame seamless pipe of 130mm dia& 3mm thickness is
used. Closing caps made from top quality FRP material which is of
2 mm thickness. The pins used are made up of 25 mm dia bright
bar. The bearing used shall be permanent lubricated sealed bearing
of reputed make. The cerclips used for assembly is of 25 mm
diameter, The Poly

Urethane plastic bush is used for handling. The Gym Equipment
shall be finished smocth with a primer coating of at least 40 micron
followed by epoxy based Powder Coating with Polyesler Powder
Coating of at least 60 to 70 micron thickness using Exonobel /
Berger make paints or its equivalent paints. Average weight of
equipment is 48 Kg {approx.).

HORSE RIDER

DIMENSIONS: 1180mm (Length) x 400mm (Width) x 1400mm.

{Height).

The main frame is made of 100mm NB made from G.l. pipes
welded with M.S. round plate of DIA 250 mm & 10mm thick. Seat
provided are made up of MS deep draw quantity of 2mm thickness
with no joint with uniform outer edge radius 20mm. The leg
movement frameis 0f 32NB made from “C"G.1. pipe. The handle frame
is of 32 NB made from G.i. pipe. The footrests are made from 25
NB G.I. pipe. Pins used of Diameter 17 mm are made up from SAE
8620 bright material. N The bearings used of “62032RS1”
permanent lubricated sealed bearing of reputed brand. High tensile
steel with galvanized nuts & bolis for assembly. The cerclips used
for assembly are of A24 mm. The Gym Equipment shall be finished

smooth with a primer coating of at least 40 micron followed by




- LU
epoxy based Powder Coaling with POIWW of at
least 60 to 70 micron thickness using %7 Berger make

paints or its equivalent paints. Average weight of equipment is 30
Kg
{approx.).

DOUBLE STANDING
TWISTER

DIMENSIONS: 1700mm (Length} x 540mm (Width) x 1250mm.
{Height). The Center Pipe is of 100mm NB made from G.I. Round
Pipe. The M.S. round plate of DIA 250 mm & 10mm thickness is
welded at bottom. The standing frame of the Double twister is of
32 NB made from

nuls & bolts are used for assembly. The Gym Equipment shall be
finished smooth with a primer coaling of at least 40 micron followed
by epoxy based Powdar Coating with Polyester Powdar Coating of
at least 60 to 70 micron thickness using Exonobel / Berger make
paints or its equivalent paints. Average weight of equipment is
52 Kg

{approx.)

10

DOUBLE SEATING
TWISTER

DIMENSIONS: 1150mm {Length) x 1150mm (Width) x 1300mm|

{Height).

The Center Pipe is of 80 NB made from G.I. Pipe. The chair Pipe is
of 50 NB made from G.i. Pipe. The M.S. round plate of DIA 250 mm
& 10mm thickness is welded at bottom. The supporting frame of the
sealed twister is of 32 NB made from G.I. pipe. The handle frame of
seated twister is of 25 mm NB made from G.I. pipe. The twister
plate is fitted on the supparting frame is made up of 60NB seamless
pipe. DIA 300mm X 10mm thickness M.S. Round Plate. Closing
caps made from top quality Fiber reinforced Plastic material which is
of 2 mm thickness. The bearings used be permanent lubricated
sealed bearing of reputed brand. High tensile stee! with galvanized
nuts and bolls are used for assembly. The Gym Equipment shall be
finished smooth with a primer coating of at least 40 micron followed
by epoxy based Powder Coaling with Polyster Powder Coating of at
least 80 to 70 micron thickness using Exonobel / Berger make
paints or its equivalent paints. Average weight of equipment is

65 Kg (approx.).

11

LEG PRESS

The center pipe is of 100mm NB made from “C" Class Gl-pipe, and the
bottom support is of MS round plate of 250mm Dia& 10mm thick is
welded at the bottom of the pipe. The remaining frame is made of
32mmNB “C” Class Gl- pipe. The handle frame is made of 25mm N8 “C”
Class Gl-pipe. Middle support is of 25mm NB “C" Class Gi-pipe. Lower
frameismade of 32mm NB“C"Class Gl-pipe. Closing caps are made
from top quality LLDPE Material which is of 2mm thick. The pins
used are made up of 25mm dia Solid bar. The bearings used are of
‘6205 permanent lubricated sealed bearing of reputed make. The nut
Bolts used for assembly are made from SS material. High tensile
steel with galvanized nuts & bolts are used for assembly. The
circlips used for assembly are made up of 25mm dia. Average
weight of equipment is 48 Kg (approx.}.

Thickness of various G. I. Pipes used is as under

. No. Nominal Bore {in mm) Wail Thickness {in mm)
1. 20 3.25
2 25 4.05
3. 32 4.056
4. 40 4.05
5. 50 4.47
6. 65 4.47
7. 80 4.85
8. 100 5.40




